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Question Number : 1 Question Id : 70819116954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i x

The period of oscillation of a simple pendulum is T =27 \/_ . Measured value of ‘L' is 1.0 m

from meter scale having a minimum division of 1 mm and time of one complete oscillation is
1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination
of ‘g" will be :

Options :

70819156011, 1-33%

70819156012, 1-03%

e
70819156013, 1-13%

.
70819156014, 1-30%

Question Number : 1 Question Id : 70819116954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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]
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Question Number : 2 Question Id : 70819116955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle is projected with velocity Uy along r-axis. A damping force is acting on the particle
which is proportional to the square of the distance from the origin i.e. ma= —ax?. The
distance at which the particle stops :

Options :
1

20§ )2
3a

70819156015.
L

31!;‘; 2
2o
70819156016.




335&- 3
2o
70819156017.

. 1

Zz:ln 3

3a
70819156018.

Question Number : 2 Question Id : 70819116955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819116956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819156018.

A circular hole of radius (—] is cut out of a circular disc of radius “a’ as shown in figure. The

centroid of the remaining circular portion with respect to point ‘O will be :

A Y-axis

Options :

1
—ad
70819156019. ©

5
—a
70819156020, ©

2
—a
70819156021,



10
—a

70819156022, 11

Question Number : 3 Question Id : 70819116956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Y-axis

Options :
1
—a
70819156019, ©

5
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2
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Question Number : 4 Question Id : 70819116957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?

GM _
[Use g = R2 = 9.8 ms~ 2 and radius of earth, R = 6400 km.]

Options :

70819156023. TN

70819156024. el

70819156025, 883 N

70819156026. 983 N

Question Number : 4 Question Id : 70819116957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :



70819156023. AN

70819156024. i

70819156025, 883 N

70819156026. 983 N

Question Number : 5 Question Id : 70819116958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f one mole of an ideal gas at (P,, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT | In2 :
2(y—1)
70819156027,



70819156028.

70819156029, RTIn 2

70819156030. 0

Question Number : 5 Question Id : 70819116958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819156027.
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70819156028.

70819156029, RTIn 2

70819156030. 0

Question Number : 6 Question Id : 70819116959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

On the basis of kinetic theory of gases, the gas exerts pressure because its molecules :
Options :

70819156031 continuously lose their energy till it reaches wall.

70819156032 continuously stick to the walls of container.

70819156033 are attracted by the walls of container.

70819156034 suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819116959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819116960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the given figure, a body of mass M is held between two massless springs, on a smooth
inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :

1 JT
9 o
70819156035, =7 V Mg sina

1 2k

27 Mg sino

70819156036.



70819156037, ~™ VM
k

Iji 2 3

70819156038, -7 ' M

Question Number : 7 Question Id : 70819116960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819116961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :
70819156039, circular

elliptical
70819156040.

parabolic
70819156041.

st‘raight line
70819156042.

Question Number : 8 Question Id : 70819116961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



B0) dheMld: Mg anodeamoemlde algiMo MSEMIEMUID, @REAUIMo UOOMIATHOETIOM
anedar® @@l AEWHeM (©0adld: alidlacemanian queocle e
Options :

CUYEOHOMO
70819156039.

20819156040, CH0OLIALYEMOE000

70819156041, -/ 0ERE®:

70819156042, SPRE0E

Question Number : 9 Question Id : 70819116962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following equations represents a travelling wave ?
Options :

— X
20819156043, V= Aercos(wl —0)

-

R e s
70819156044, Y= A€~ (v1+0)

= 7 l 'j
70819156045, V= Asin(15x —21)

70819156046,/ AASinT coswl

Question Number : 9 Question Id : 70819116962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

— X
70819156043, ¥~ “rercos(w! — )

g
R =X
70819156044, Y= ¢~ (V1 +0)

70819156045, ¥ = AsIn(15x —2)

70819156046, ¥ = AASInY coswl

Question Number : 10 Question Id : 70819116963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :
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70819156048.
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Question Number : 10 Question Id : 70819116963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 70819116964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819156050.

Figure shows a circuit that contains four identical resistors with resistance R=2.0 (1, two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S" is closed will be :

=
¥ 3]
)
Wi
-
k=

E=9 V]
R 8L
R
Options :
70819156051, 220 A

70819156052, -0 A

70819156053, 037 A



70819156054, 2 A

Question Number : 11 Question Id : 70819116964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819156051, 220 A

70819156052, -0 A

70819156053, 07 A

70819156054, 9 A

Question Number : 12 Question Id : 70819116965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A soft fermmagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819156055 increase in size but no change in orientation.

70819156056. decrease in size and changes orientation.

70819156057, May increase or decrease in size and change its orientation.

70819156058, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819116965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819116966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - IL
List -1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (i) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons
(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :

Options :
70819156059, @F (Vi) (B)-(v), ()-(1), (d)-(iv)

70819156060. (a)-(vi), (b)-(iv), (c)-(1), (d)-(v)
70819156061, (@), (B)-(iv), ()-(1), (d)-(ii)

70819156062, (@)-(i), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819116966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819156059, @ (VD) (B)(v), (c}-(D), (d)-(iv)

70819156060, @)(vi), (b)-(iv), (c)-(i), (d)-(v)
20819156061 @) (i), (D)-(iv), (c)-(1), (d)-(iii)

70819156062, (@)-(ii). (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 14 Question Id : 70819116967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the source of light used in a Young's double slit experiment is changed from red to violet :
Options :

70819156063, e fringes will become brighter.



70819156064, Consecutive fringe lines will come closer.

70819156065. the intensity of minima will increase.

70819156066, the central bright fringe will become a dark fringe.

Question Number : 14 Question Id : 70819116967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
werdlod g Mg flF aldlaxemasilad alewoudlenmm (lsov eo®mq aliaiafldd aflory
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Options :
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Question Number : 15 Question Id : 70819116968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An X-ray tube is operated at 1.24 million volt. The shortest wavelength of the produced
photon will be :

Options :

1
70819156067, 10~ nm



2
70819156068, 10 - nm

3
70819156069, 10~ nm

4
70819156070, 10 ° nm

Question Number : 15 Question Id : 70819116968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1
70819156067, 10~ nm

a
70819156068, 10 - nm

3
70819156069, 10~ nm

4
70819156070, 10~ " nm

Question Number : 16 Question Id : 70819116969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The de Broglir_- wavr_-lr_-ngﬂ\ of a proton and u-particle are r_-qual. The ratio of their velocities
15 :

Options :
70819156071, +:1



70819156072, +* 2

70819156073, +: 3

70819156074, 14

Question Number : 16 Question Id : 70819116969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819156071, *+°1

70819156072, +* 2

70819156073, +: 3

70819156074, 14

Question Number : 17 Question Id : 70819116970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum ?

Options :
70819156075, N =2 to n=1

70819156076, N =2 ton=2



70819156077, "~ o n=3

70819156078, N2 o n=4

Question Number : 17 Question Id : 70819116970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

GenIod @DRo @IM Y @RMIMAle] MIOYa#EaIs|Eidleaimauaiad anm mopsmsleoem
@O apnle Eoullemialdlenmma ?
Options :

70819156075, =2 to n=1

70819156076, M =2 ton=2

n=4 ton=3
70819156077.

70819156078, M= ° o n=4

Question Number : 18 Question Id : 70819116971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p — 1 junction having p and n both :
Options :
70819156079, lightly doped and have narrow depletion layer.

70819156080. Iight[}-' dopr_-d and have wide deplefinn Ia}-'er.



70819156081, heavily doped and have narrow depletion layer.

70819156082, heavily doped and have wide depletion layer.

Question Number : 18 Question Id : 70819116971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

20819156079, eloe0l eadal 6.alwim), Mo )0 Glﬂg(pnﬂdfﬁl alogll @g.g@gjatﬂb.
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70819156081, el eeaafldd eaoal eo1Rm &mo @0 mﬂgqpnfdﬂ?] alosl] ggg:sgjaoﬁa.

0819156082, el apaallad eawoal 6aIR® Mo diSlw G.Lﬁg{nn&l(ﬁ': alosl] @ggrsgja@.

Question Number : 19 Question Id : 70819116972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.

Statement 11 :  In the study of transistor, the amplification factor 3 indicates ratio of the
collector current to the base current.

In the light of the above statements, choose the correct answer from the options given below.
Options :
70819156083. Both Statement I and Statement 11 are true



Both Statement | and Statement 1l are false

70819156084.
70819156085, Statement 1 is true but Statement 11 is false
70819156086. Statement 1 is false but Statement Il is true

Question Number : 19 Question Id : 70819116972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 70819116973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A
[>0—=0 C

B

The logic circuit shown above is equivalent to :
Options :

A o———r]

70819156087. B )

1

Ao—>0

B o——

Y

70819156088.

Ao—>0

Bo

T

70819156089.

= >
)

70819156090.

Question Number : 20 Question Id : 70819116973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
jeres e
C
70819156087. B
Ao—{>0 _
o—o(C
70819156088. B
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Physics Section B
Section Id : 708191671
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20

Mark As Answered Required? : Yes



Sub-Section Number : 1
Sub-Section Id : 708191951
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819116974 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two solids A and B of mass 1 kg and 2 kg rr_-spectivc-l}-' are moving with equal linear

A
momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be 1% the value of
A will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 21 Question Id : 70819116974 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@odhao 1kg, 2 kg @0y 988 6N aUnalcodmOBG, A, B agmial miely coallw
@RDHOCODOOS (Hl6T3)HWOosM. @CUWOS Mlemodomamains @omialdmo(K.E.), : (KE);

A
@R fldleno e ag@lad, A @es allel e dleao.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 22 Question Id : 70819116975 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform metallic wire is elongated by 0.04 m when subjected to a linear force F. The

elongation, if its length and diameter is doubled and subjected to the same force will be
cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819116975 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

8an) moeenad emilolad eq) eoalw snieo F (ewoddleniemuond 0.04 m oilgiom). enem
Sil@es dlgaljo alpale SIS Eloatio, @OE® MIRlo MO (ale@ousl.ojodd
epailon dlammielensoalim abdabm cm @R@Idle6o.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819116976 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.
The moment of inertia about an axis passing throueh the centre of mass and perpendicular
to the plane of hexagon is x 101 kg :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819116976 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6 kg @qlo, 2.4 m (figaljo 88 SO} CNDO MABEMY AUSeS B0} NDEJER aHWEHIEMo
ezl @ldeaim). ERallen (BO)@Om Ch(MBOTROS aHUREHIEMETION nlmelwmioy
2losnIMmOW] £HSMMY Calddh)(M B0} ER&HHUEET @DUWINDILE] EREI6 M HMIBNE 6dald Mdat)

@6 x10" T kg m2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819116977 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The root mean square speed of molecules of a given mass of a gas at 27°C and 1 atmosphere
pressure is 200 ms~!. The root mean square speed of molecules of the gas at 127°C and

2 atmosphere pressure is % ms 1. The value of x will be
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819116977 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C moadilaidiialje 1 eoomolsy adgamwlalle g sl Mlddlads cuomsames
DO (MBHRIOS OBl rms eu® 200 ms ! @@em. 127°C moalmilaliweljo,

X
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2 @M Al ada@Tallo MMIMBBIOS rms EOUN® ms~ ! @@em. x -om@ allel

@@l @l jo

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116978 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each
other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116978 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ENE dho0JdhGd 7.2 km/hr GOUMMEWINS al®dMialMo @HSIEMICLMGIMM). @B al®Mialdo
HOEMEMUOD 676 Hz @ooL)@milecmons 06 Gan0smidhalo MIPE6MMN). 60600 OO0
e a6 enflg @palyenil epeidlesio Hz. [cuowjafieel vesnieaniled ecume
340 m/s.@end.]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819116979 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A point charge of +12 uC is at a distance 6 cm vertically above the centre of a square of side

12 cm as shown in fi%urc-. The magnitude of the electric flux through the square will be
% 10° Nm*/C.

+q

>
%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819116979 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



aflimesad &oemlofldlenyme calonal +12 nC 988 60} Galo@lnf alodeg 12 cm AUmes
80, MOo®EAVOM ehmaTIn] alkhglandl 6 cn GJEEMIEM. 7
MD.2IMEOTIRHSWIER HOMUBY® ol Milan aldlndemoe @ @ldlenio
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819116980 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A cylindrical wire of radius 0.5 mm and conductivity 5 x 107 S/m is subjected to an electric
field of 10 mV/ m. The expected value of current in the wire will be x> mA. The value of x
is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 27 Question Id : 70819116980 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.5 mm @@o0o 5x107 S/m aeldmwlo oas an) mielezd ojuomlalgs emnilald
10 mV/m 988 &0} aeccy® membelo (wlewiddlafldlenim) oo emialajpswias
OOMUBY® (ldae 7 mA @em. x &g alleiwosm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819116981 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A series LCR circuit is designed to resonate at an angular frequency mﬂ=1f]5 rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the
circuit is (.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819116981 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



8} euyem njalonilaes LCR quddys w,=10"rad/s eaoamilo epoyodidiad @omimoso
£21Qomoa] alleamm 6ol dlenimm). @oMIMIGETIORIGIMIETIIWD, @D TVd®:IS
120 V eioomql@d aflomy’ 16 aiog alaud afldauellenim). cuddaygenss (aieflerowo ‘R’
e afleiosny 0.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116982 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 from vacuum. The wavelength of this wave in that medium will be
x10~2 em.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116982 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
3 GHz @payenil@igs 6] e6as®m ®homild ®oowo 2.25 @pealddld e6s|®
eaddidlalldl o8s an) ee eldkiSlde: nounomicelss wmmala olimio &sHaim).
@D UG Y @romamien mecwenadecjo ERIdHeio a1 Zom,



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819116983 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

3
[Gain in dB=10 Iogm[ﬁ ]
Fi
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819116983 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



0.1 kW cuog o988 an) milond e} esmemildleos (alestalsmo & aliwdlenimm). o
eamenlldlom apgemlauad — 5 dB/km aflgo 20 km agyrrlcum@oen). mufladlenfiaiad aigymodsym
alcud 107 W @osm.  x e@allei@osm

\
[dB @@ 988 @odwmo =10 Iﬂgl{][% ']
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Chemistry Section A
Section Id : 708191672
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191952
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819116984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



According to Bohr's atomic theory :

2
(A) Kinetic energy of electron is o Z_

112

(B) The product of velocity (v) of electron and principal quantum number (n),
‘v x 72,

3
(C) Frequency of revolution of electron in an orbit is = Z_,i
n

3

(D) Coulombic force of attraction on the electron is = —-
n

Choose the most appropriate answer from the options given below :
Options :
70819156101, A)- (€) and (D) only

70819156102, (44) and (D) only

70819156103, (©) only

70819156104, (44 only

Question Number : 31 Question Id : 70819116984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



gentod @penodke: Elod] (ldomo
-
(A) eesoarian nalendnge x —-.
n
(B) eesesoenien leaivio (v) emmio Ln_r‘lrﬁ':m"lgjm‘b dhJo6MEo MMUDd (n) e@®io
melme end @rmjalomaslenailclsnio, @M@ ‘vn' = Z2.

3
(C) eodemidleal gelsesoenlon aldligkasm@slon @@l 2_3
n
s
(D) emekesoenilecnnadd 9688 &hjealoimnlls: EDdbAntem euslo x — .

n-‘-l

@6y emildeaimala ala] appalie @MEWIRMIW HEMDO af® ?
Options :

70819156101, (&) (C), (D) @mo@o

70819156102, (&) (D) @oL@o

70819156103, (©) 2O®o

70819156104, () 2OL®O

Question Number : 32 Question Id : 70819116985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I 1 I bond angles respectively in I; ion are :
Options :
70819156105, Linear; 180°



18 i . 135° o
70819156106, Distorted trigonal planar; 135" and 90°

70819156107, I-shaped; 180" and 90°

Trigonal planar; 120°
70819156108.

Question Number : 32 Question Id : 70819116985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[, moewoemlem wdlwow @o@®:)wlwio, I-1-1 esoemandalo @LO0EhXO :

Options :
70819156105, ENMI@A ; 180°

70819156106, “IEEROOSAUS OOISENME gjomd; 135° & 90°

10819156107, 5 co¥e] s 180°, 90

. 'j o
10819156108, DPECUEM@ gjomod ; 120

Question Number : 33 Question Id : 70819116986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Most suitable salt which can be used for efficient clotting of blood will be :
Options :

NaHCO
70819156109, 3

70819156110, M8HCO3)2



70819156111, L eC13

70819156112, 1004

Question Number : 33 Question Id : 70819116986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

anelialEaow] admo &SallSlallandm appaljo @EMEWIRMOW alaleMo af® ?

Options :

NaHCO;
70819156109. :

70819156110, MBHCO:)

70819156111, FeCls

70819156112, 104

Question Number : 34 Question Id : 70819116987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the following in which both pairs are in correct order of melting point
18 !

Options :
70819156113, LC1 > LiF ; MgO > NaCl

70819156114, LiF > LiCl; MgO > NaCl



70819156115, HC1 > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819156116.

Question Number : 34 Question Id : 70819116987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o6Ns’ 6&0Sldhalo, Omm@ilel (Melting Point) @6)S (d@ow ®Hacwiless amg af® ?

Options :
70819156113. LiCl > LiF ; MgO > NaCl

70819156114, WF > LiCl; MgO > NaCl

20819156115, HC1 > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819156116.

Question Number : 35 Question Id : 70819116988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL

List - 1 List - 11
(Metal) (Ores)
(a) Aluminium (i)  Siderite
(b) Iron (ii) Calamine
(c) Copper (iif) Kaolinite
(d) Zinc (iv) Malachite

Choose the correct answer from the options given below :



Options :

70819156117, (@)1, (b)-(ii), (c)-(iii), (d)-(iv)
70819156118, @), (b)-(iii), (c)-(ii), (d)-(1)
70819156119, @)-(i), (b)-(iv), (c)-(i), (d)-(iii)
70819156120, @) (i), (b)-(i), (c)-(iv), (d)-(ii)
Question Number : 35 Question Id : 70819116988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
smoaaem elqo ceziae®m® ellmio coldloals] C.alddeid.

eflovg - 1 eflovg - 11
(eetdano) (@ @)
(a) @eeydadiwo (i)  OMWeSOF
(b) @Pewend (ii)  dbeloaldd
() GdnOqd (iii) #ecuoeleemg
(d) milss (iv) moRIe6dHHR

OlWow HEMDO af® ?

Options :

70819156117, (@)-(1), (b)-(i1), (c)-(iii), (d)-(iv)
70819156118, (@), (b)-(iil), (c)-(i1), (d)-(3)

70819156119, (@)-(1), (b)-(iv), (c)-(1), (d)-(iii)

70819156120, @)-(ii), (b)-(1), (c)-(iv), (d)-(ii)



Question Number : 36 Question Id : 70819116989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.
Reason R : Hydrogen is the lightest element.

In the light of the above statements, choose the correct answer from the options given
below :

Options :
70819156121, Both A and R are true and R is the correct explanation of A

70819156122, Both A and R are true but R is NOT the correct explanation of A

70819156123, ‘v 18 true but R is false

70819156124, ‘A 1s false but R is true

Question Number : 36 Question Id : 70819116989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

N2 ([lNImonUMEBUd mildenimn). e (mimam A @jo M6NE &Imemo R Ho @oem.

(IU@IAUM A : £6a0WRM (alalemeT@ agailo @UlHDIER MIElhmosm. aled:y
@@ eSocajomadl@dldd apgalie @RUISHMIER QOmBHRL).

o0emo R : SRR 0] BOMO &6 MIEIBMOET.
cadda |OMMAIQeS @rsltuoomaniid, ElwIw SEMe HBOOETNS]H) ] db.

Options :

70819156121. A, R agyrmilcu vadlaoem, A @ies dlwo@ &Homemaoem R



70819156122, v R ag)milod d@oem), alody A @OS WL @&HOvemag) R

70819156123, A vdl@oem, R exmpoen

20819156124, > ©©@Q06M, R vodl@osm

Question Number : 37 Question Id : 70819116990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (i) 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbCl (i) 780.0 nm
(d) CsCl (iv) 589.2 nm

Choose the correct answer from the options given below :
Options :
70819156125. (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

70819156126, (@r(i), (b)-(iv), (c)-(iii), (d)-(i)
70819156127, @), (0)-(iv), (c)}-(ii), (d)-(iii)

70819156128, (@)-(i), (b)-(i), (c)-(iv), (d)-(iii)

Question Number : 37 Question Id : 70819116990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



smoaeem elmigle eeeoasnem elmiglo ¢olmloals C.olbde)ids.

eflovg - 1 eflorvg - 11
(oo | BICUEMO) (eng@ileo Mloe @Romerdeal0)
(a) LiCl (i) 4555 nm
(b) NaCl (i) 670.8 nm
() RbCl (i) 780.0 nm
(d) CsCl (iv) 5892 nm

dlwow HEBO of® ?
Options :
70819156125, (@)Fv), (b)-(i1), (c)-(iii), (d)-(1)

70819156126, (@)-(i), (D)-(iv), (c)-(iii), (d)-(3)
70819156127, @), ©)-(v), (¢)-(i), (d)-(ii)

70819156128, (@)-(1), (b)-(i), (c)-(iv), (d)-(iii)

Question Number : 38 Question Id : 70819116991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The incorrect statement among the following is :

Options :
70819156129, VOS50, is a reducing agent

70819156130. RuD_,‘ is an oxidizing agent

70819156131, Cr,0; is an amphoteric oxide



Red colour of ruby is due to the presence of Co**
70819156132. i

Question Number : 38 Question Id : 70819116991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®06)9 61h0S A dleaMaUDITh H®RIW (aIMimonUM af@ ?
Options :
70819156129, VOSO, 8@} aflenossmilaod@os

RuO, &0} 60&Hmilaodlaosm
70819156130.

20819156131, CT20% B0] EOEALOOSTlE BoBeRTVAL EDEN

70819156132, Oenll@yes ayaim afloo Co? *od monrilwie edhoensoen

Question Number : 39 Question Id : 70819116992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct order of the following elements with respect to their density ?
Options :

70819156133, Cf <Fe<Co<Cu<Zn

70819156134, Zn < Cr < Fe < Co < Cu

70819156135, Zn <Cu<Co < Fe <Cr

70819156136. Cr < Zn <Co <Cu < Fe



Question Number : 39 Question Id : 70819116992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®moeY Madldlenimm DIEIHEBRINS MOMPHWHS NAWIW (&ho af@oem ?
Options :

70819156133, <f < Fe<Co<Cu<Zn

70819156134, Zn < Cr < Fe < Co < Cu

70819156135, Zn <Cu<Co<Fe<Cr

70819156136, Cr < Zn < Co < Cu < Fe

Question Number : 40 Question Id : 70819116993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [FeCl, Iz ~ [CRE00 I;_-, b

and [11110:;'_ respectively are :
Options :
70819156137, 490, 0 and 1.73 BM

70819156138, 292, 4.90 and 0 BM

70819156139, 2-82, 0 and 0 BM

70819156140, +90, 0 and 2.83 BM

Question Number : 40 Question Id : 70819116993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



[FeCl, oy [Co(C,0, )3]3_, [*x-inoi_ )Ml @eS dhemdaidhgl afldepola) mouimdld
c00onM@e@d (Mialld eosrdell mjeljo) @OOEhDO af)@OWIOBHWIET ?

Options :
0819156137, 90, 0 80 1.73 BM go

S0810156138. 592 490 90 0 BM 9o

70819156139, 20> 0 @0 0 BM go

20819156140, 90 0 90 2.83 BM 9o

Question Number : 41 Question Id : 70819116994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement 1 : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement 11 : The r:rp'r_"imum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819156141, Both Statement | and Statement Il are true

70819156142. Both Statement | and Statement 1l are false

Statement 1 is true but Statement 11 is false
70819156143.

Statement 1 is false but Statement Il is true
70819156144.



Question Number : 41 Question Id : 70819116994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
MENE [l MIMOCUMBUD P O)eB:0S | O1H @86 0m),

(@M I : “enuc@ond:dla6md a0 milza allaomd (BOD)™ ag)om momdaxmilan mieno,
zeloniloal glaien dlelididqflom momicul.ef (alowommaamosn.

(dorv@acum 11 : BOD w)es @omiewoRimow mieljo 6.5 ppm @6m.

(ol mimonLIMeEe8ENCLlal @oey mmaualad dlom rrlwow eEmee HMmAEETTMS)HE Jdb.
Options :

70819156141, el MO@mOCUMEG 1, 11 agyamilcu eenzlo vadlwoeny

70819156142, T@IUMEBD 1, 11 agilal eenejo 6®Ro6M

mimocum 1 cadlwie 11 exmQ@moent
70819156143, & do s

20819156144, @ TV@OCUM I ©®FI0 11 codlamosn)

Question Number : 42 Question Id : 70819116995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diazonium salt of which of the following compounds will form a coloured dye on reaction
with -Naphthol in NaOH ?

O

Options :

70819156145.



: gCIHENHE
70819156146.

e

Question Number : 42 Question Id : 70819116995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819156147.

70819156148.

@6y mmilalsoymMmaualad opalen woemasml@o elalemo, B-Miale®mIgimow]
lludEil.a] NaOH @ e} rlongs a6 eenzodaio ?

O

70819156145.

: - IE.HENH2
70819156146.

Options :



70819156147.

CI—I3

70819156148.

Question Number : 43 Question Id : 70819116996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the [ nllowing cnmpnunds is non-aromatic 7

]

70819156149, O

Options :

70819156150.

=]

®
70819156151. :
70819156152. I I I



Question Number : 43 Question Id : 70819116996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@Y MEdHIQ MowemeBglad cmoem -BREr0adHlE: BR® MoW)dMo af® ?

(]

70819156149, O

Options :

70819156150.

&

®
70819156151. :
70819156152. I I I

Question Number : 44 Question Id : 70819116997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following carbonyl compounds cannot be prepared by addition of water
on an alkyne in the presence of HgSO, and H,50, ?

Options :
i
70819156153, s~ C—H
0

[l
_C_CH-CH
70819156154, “113~ ¢ 2=



O

|
70819156155.

O

Il
CHy=CH;=CoH
70819156156,

Question Number : 44 Question Id : 70819116997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®o6)® Madasl Wl dlan)maueiad oy eobeniemiad mowemaoen, 80} @D T HOT CEIHE),
HgSO,, H,50, agmlai@ins momilwieml@ &ele muehelMo 6210 9Me0e000d
rowlanomma ?

Options :
5
70819156153, CHa—C—H
i
|
—C—CH,CH
70819156154, “113~ € 2=

i

W
CHy=CH;=C<H

70819156155.

70819156156.



Question Number : 45 Question Id : 70819116998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

s i 1 Cl
NGZ NDE NDE
(1) (if) (iii) (iv)
Options :
70819156157, 1Y) < (i) < (i) < (i

70819156158, (V) < (1) < (iii) < (ii)
(i) < (ii) < (iii) < (iv)

70819156159.

20819156160, V) < (1) < (i) < (iii)

Question Number : 45 Question Id : 70819116998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Myigsle@ondlefls: muenimiQuauad (aloud@mmEsied moa @Nldlenim Mo B EIBRIONS
COR ofR®) (@Haowilenem ?

Cl Cl Cl 1
NDE NGZ Noz

(1) (ii) (iii) (iv)
Options :

70819156157, @V) < (i) < (i) < (i

70819156158, (V) < (1) < (iii) < (ii)
70819156159, (1) < (1) < (iii) < (iv)

70819156160, (V) < (1) < (i) < (iii)

Question Number : 46 Question Id : 70819116999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

O

Which of the foIIr:rwﬂ‘lg reagent is suitable for the preparation of the pmduct in the above
reaction ?



Options :

NaBH,
70819156161.

= RiF]
70819156162, V2 ~NHz/CH50Na

70819156163, o/ Ha

Red P +Cl,
70819156164, 2

Question Number : 46 Question Id : 70819116999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

=

®oey mdsldigies JewrmiHel@d af®mialec@ouilalorioem’ @miheleel
@omalaudemmariieal ©@alimo eidlea)s.

Options :

NaBH,
70819156161.

= NG
70819156162, NH2 ~NH5/CH50Na

70819156163, i/ Fa



Red P +Cl,
70819156164. 5

Question Number : 47 Question Id : 70819117000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of reagents used for converting nitrobenzene into
m-dibromobenzene ?

M':Jz Br
T o= o -
Br
Options :
Sn/HCI / KBr / Br, / H+
T - - -
70819156165.
NaNO, / HCl / KBr / H*
: - - -
70819156166.
Sn/HCl / ‘\JaNDE NaBr
—I- e
70819156167.
Br,/Fe F/Sn;‘ll(_lh/ NaNO,/HCl ___/cuBr,fHBr o
70819156168.

Question Number : 47 Question Id : 70819117000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



e6ameso eeudmilem, m-eenveEniocnd aeumdmiad eodes aogom erusne dlewandidud
@WLOJ(hdio QREMIEIHE) ?

:\JDE Br

Br

Options :
Sn/HCI / KBr / Bry / Ht
- - - -
70819156165.
NaNO, / HCl / KBr / H*
: - - r
70819156166.
Sn/HCI / /“JaNDz / NaBr
70819156167.
Br,/Fe .F/Sn’”mlp./ NaNO,/HCl ;/CuBr;'HBr i
70819156168.

Question Number : 48 Question Id : 70819117001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In polymer Buna-5 : °S’ stands for :
Options :

70819156169, SUlphur



70819156170, Otrength

70819156171, Styrene

Sulphnnation
70819156172.

Question Number : 48 Question Id : 70819117001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘enl)lem-S’ ag)m eatogladla@d ‘S” ag)m@ agylem @)Cleainmy ?
Options :
70819156169, MBand

70819156170, TUOSCLOT

70819156171, ©OEROID

70819156172, TOUREANOEEM D

Question Number : 49 Question Id : 70819117002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - 1 and List - 11.

List - 1 List - 11
(a) Valium (i)  Antifertility drug
(b)  Morphine (i) Pernicious anaemia
(c) Norethindrone (i) Analgesic
(d) Vitamin By, (iv) Tranquilizer

Options :



70819156173, (@)1, (b)-(iii), (c)-(iv), (d)-(ii)
70819156174. (@)-(1v), (b)-(ii), (c)-(i1), (d)-(1)
70819156175, @)-(1v), (b)~(iii), (c)-(i), (d)-(ii)
20819156176, @) (1), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 49 Question Id : 70819117002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

eflovg - I o ellmig - 11 Ho CaldjoalS] E.aldde) jds.

eflovg - 1 eflavg - 11
(a) cuoellwo i) @EW@l-ewndgleldl ol
(b) cmodadlad i)  ealdemlayymy @railalo

(

(
(c) emodag)mrdiddeuwond (iii) @PmMomeEMld
(d) aflgodldd - By, (

)
iv) (sodddafleealrod
Options :
70819156173, (@kF(1), (b)-(iii), (c)-(iv), (d)-(ii)
70819156174, (@)-(1v), (b)-(ii), (c)-(i1), (d)-(i)
70819156175, (@), (b)-(iid), (c)-(i), (d)-(i)

20819156176, @)F(1), (b)-(v), (c)-(iii), (d)-(i)

Question Number : 50 Question Id : 70819117003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I and List - IL
List - 1 List - 11

0
I
(a) R—C-Cl »R—CHO (i  Bry/NaOH

(b) R—CHQ—CDDH—rR—(l“_IJ—CDDIl (i) H,/Pd-BaSO,
cl

O
Il
(c) R—C—NH; —R—-NH; (i) Zn(Hg)/Conc. HCl1
O
I
(d) R—C-CH; - R—CH,—-CH, (v) C1,/Red P, H,0

Choose the correct answer from the options given below -

Options :
70819156177, @F(1i), (b)-(iv), (c)-(1), (d)-(ii)

70819156178, (@)-(ii), (b)-(1), (c)-(iv), (d)-(i1)
70819156179, (@) (i), (b)-(0), (c)-(iv), (d)-(iii)
70819156180, (@), (b)-(v), (€)-(1), (d)-(iii)

Question Number : 50 Question Id : 70819117003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



efloig - I oo allmig - I Ho caldlonls] .aldde .

eflovg - 1 eflorog - 11

@]
(a) R—(lj—C[—rR—(.".HD (i)  Br,/NaOH
(b) R—CHZ—CDDI—I—'-R—{l'_‘II—C{’)(]H (i) H,/Pd-BaSO,

Cl

O
(c) R—gf—NHQ—*[{—NHz (iii) Zn(Hg)/Conc. HCI

O
(d) R—("_—cna_m—cnz—cn?, (iv) Cl,/Red P, H,0

MmoeY B dwow HEMmD afy® ?
Options :
70819156177, @)-(H1), (b)-(iv), (€)-(1), (d)-(ii)

70819156178, (@)-(1i), (b)-(1), (c)-(iv), (d)-(ii)
70819156179, @)-(i), (b)-(1), (c)-(iv), (d)-(iii)

70819156180, @)(i), (b)-(iv), (c)-(i), (d)-(iii)

Chemistry Section B
Section Id : 708191673
Section Number : 4

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191953
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819117004 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of Dz for
complete oxidation and produces 4 times its own volume of CO, is C IHH. The value of y is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 51 Question Id : 70819117004 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

B0) UIOH HHANE(WIHIDENIETD aljdenaod 60&Hmledlendmd @owie mcganj’m;mm'lmig
6 msemE O, @DAUWDET. BoBhTHeBRMATI® HaaneWIGRIdeIemInm palmenie
4 msevd’ CO, MB0dH)M).  HHANGUWdEHIdeMINN Muimadsio C.H, eoesmeld, 1 e
aller @e. “

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819117005 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is
L. (Rounded off to the nearest integer)

[Given R=0.0826 L atm K~ ! mol ~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819117005 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
50°C groadimoaldleljo, 740 mmHg adaerilele £88 4.75 g @vavaellod cuo@mde@milend aloaime
. eflgd eodidenio. (O®mOSSHE® aljdemmvoely)
[rujaim : R=0.0826 L atm K~ ! mol~1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819117006 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
x %1071, The value of x is . (Integer answer)

JHC = CH':E}: C,_:,] I.,_:,U}

[Given : A/G°(HC=CH)= -2.04x10° ] mol ™! ; A,G*(C4gHg)= —1.24x10° T mol~ ! ;
R=8314 ] K 1 mol ] "

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819117006 Question Type : SA
Correct Marks : 4 Wrong Marks :

e ag)load mmmg,mago rOEs(d 0D, MIEP OEHISIAIBL6MM MOMVICUBGMM A6
log K mjeljo 25°C @ xx 10~ ‘@peem&l@d, x o@ aflar _~~ a@pem. (9@meo
aljdemmuosy@iad )

[rogaim : A G*(HC=CH)= —2.04x 10° T mol—1; AG*(CeHg)= —1.24 % 10° Tmol 1 ;
R=8314 ] K~1 mol 1] '

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 54 Question Id : 70819117007 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,;; in 200 g of C.H
freeze is __"C. (The molal freezing point depression constant of C ;Hg is
5.12°C/m.)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819117007 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
CeHg memyamio@imn@ 5.5°C - @ @em. 10 g CyH, g, 200 g CoH -@ eiwfla [l jiensossilw
B0 MEMEMOIMNE ‘C @ apddlenie. (CH, 6@ cmogomd (admilsns
Galo@d lllalaUmd esH0emdayd 5.12°C/m @em).)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819117008 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The solubility product of Pbl, is 8.0 10 ?. The solubility of lead iodide in 0.1 molar solution
of lead nitrate is x x 10~ mol/L. The value of x is . (Rounded off to the nearest
integer)

|Given \E = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819117008 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Pbl, &y exvoayendald] alatowes 8.0 <1077 @pend. 0.1 M eal eomesq elowaiaid
1=10M mmm:ms}aumﬂmr% elo@dh@lo x %10 ¢ mol/L @pesméldd x & alfle
@oem. (emogsiem alidemrvoalwicd)

[(ro321m : 2 = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819117009 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The magnitude of the change in oxidising power of the MnO}/Mn =t couple is xx 1071V,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

MnO, and Mn?" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
3 2303 RT
|:{_1'ivfrn - ¥ = []_[159]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819117009 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

H* @prewosn mousm, 1M d dlond 10 4 M eaies 25°C @b @ogori@odd, MnO, /Mn?*
dalldlon aosmilenem cwadioiad pmeodim mgo xx 1074V epeem®ldd, x o alle

@Rem. (6®mSS)OM aljdemmosy@lad) (MnO,, Mn2* ag)MICI@IOS oUIm
H* arcwoemleag mousmenmimdlel mopdigoe®m mil@eniom) agytm @omimonileeid )

[mﬁg_’um : DR {].{]59]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 57 Question Id : 70819117010 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of Ingm[?] is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 57 Question Id : 70819117010 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

25°C poatimoall@d, angy eodawd coq mloae @mimudlal e&oens, 3.33 h andad
OOLICANINS ME(HoM @Ml elo@midld eaanewogimilmilm’ afllewaowl
RIANOMJo (aDHESOMe @D @o0IMY. 9 memlandlm) eato, @ROICUWAHIHH T

M08 (0TI (anddudd [ @6 emslad, Engm[%]= R x 10~ 2 epofalen]o.

(e@mogsi@® aljdemmoos))
[ros@dailenids : In 10=2.303, In 2=0.693]
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819117011 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among the following allotropic forms of sulphur, the number of allotropic forms, which will
show paramagnetism is _

(A) a-sulphur (B) p-sulphur (C) S,-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819117011 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@06 ®idleanym mwdandlon @regoeSalidsld alornomdimgimio (aldSlafleniomay
@ ?

(A)  a-tr0tBand (B) B-trutdand (C) S,-Gando

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 59 Question Id : 70819117012 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of amines among the following which can be synthesized by Gabriel
synthesis is

CH3z
CHs

CHy—NHj NH,
© ©/ D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

CH—CHp—NH» (B) CH,CH,NH,

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819117012 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@069 Ml Blen M@ ag)® @rdlnied wenllewd miommimy cwyl penzosand
¥l ?
CHsz
CHa

CHy—NIHp NH,
©) ©/ (D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

(A) CH—CHy—NHj (B) CH,CH,NH,



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819117013 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durf_nﬁ
purification. Amount of acetanilide obtained after purification (in g) is x 1074

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819117013 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g @apmileflld ajeicumoal (al@lalcudemlal eeagomleeaiol’ ©emeddinm].
wiallsoemomlalsss 10% 9da]Mo MadSOHQ|Z] af)M] HOJ®Id. of)ssldd
wallaoemamlr) eriado eidlenimm armugorieseaiulen eraal %1072 (g)
@D 6.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001



Mathematics Section A

Section Id : 708191674
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191954
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819117014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

= = Z 5 is (20, b, —a—9), then |a+Db] is equal to :

|
L)

Options :
70819156191, 84

70819156192, 86

70819156193, 88

70819156194, 20

Question Number : 61 Question Id : 70819117014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



a, beR@paymy X =3 _¥=2_ 271 (omm eoauoid P(a, 6, 9) agem enflyaled

7 5 9
alod enemed’ (20, b, —a—9) agonmoem af)@sl@d, [a +b| agomae

Options :
70819156191, 54

70819156192, 86

70819156193, 88

70819156194, 20

Question Number : 62 Question Id : 70819117015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be in arithmetic progression. Let the centroid of the triangle with vertices

)

!

(a, c), (2, b) and (a, b) be [%{], €J If o, B are the roots of the equation ax?+bx+1=0, then

the value of a2+ B2—ap is :

Options :
69
70819156195, 220
71

70819156196, 296

69
70819156197. 256



7
70819156198. 256

Question Number : 62 Question Id : 70819117015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
a, b, ¢ agmilcu masmmeewyemlwienem. (a, c), (2, b), (a, b) agmiu WIdaHETREI®

10 7

10
(@lesoemaniiond awlenilos) [?, %J ag)MNABIMY. ax? +bx + 1 =0 ag)(m Mu@UIH GO R
mjeNsTBaem a, B agricue@sad, o+ p2—ap agmMmaien melmoen) :
Options :
12
70819156195 20
7,
70819156196, 20
©
70819156197, 2°
e
70819156198, 220

Question Number : 63 Question Id : 70819117016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



If Pis a point on the parabola y=xz+4 which is closest to the straight line y=4x —1, then
the co-ordinates of P are :

Options :

(3. 13)

70819156199.

70819156200. (2 8)

70819156201.

70819156202, 1r 2)

Question Number : 63 Question Id : 70819117016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y=x2+4 agm alooeenaaleal &) eiosjnow P, y=4x—1 ag)im GOAICIS afQjo
@OS,ODO6EMEI@, P @iOs moaypezos (rildeaueomesd) :
Options :

(3, 13)
70819156199,

70819156200.
70819156201.

70819156202

Question Number : 64 Question Id : 70819117017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



For which of the following curves, the line x ﬁy — 23 is the tangent at the point

33 1
3 E
Options :

70819156203.

X
70819156204.

2x2 — 183,-2 =0
70819156206.

Question Number : 64 Question Id : 70819117017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3./3 1

®moey @il dlaiomaiiad, [ 5 18 E] ag)m endlozyaflad x4 3y = 243 agim eosy, awy

£SO (LN CUIB® af® ?

Options :

70819156203.

X
70819156204.



1
2_ —x
¥ =B
70819156205 V3

2x2 — lﬁyz =0
70819156206.

Question Number : 65 Question Id : 70819117018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3
The value of the integral, j[:r2 2x —2|dx, where [x] denotes the greatest integer less than
1
or equal to x, is :

Options :

70819156207, °

70819156208, ~ 4
70819156209, V2 -3 -1
70819156210. V2 -3 41

Question Number : 65 Question Id : 70819117018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[x] ag)om@ x eMos myelemo @R 6.010)emM0 AW WM alldemrvosl @ReEME:IE,

3

f[x? —2x—2]dx agm @ReNond aeye agma :
Options :



70819156207,
70819156208, 4

70819156209, V2 -3 -1
70819156210. V2 - B +1

Question Number : 66 Question Id : 70819117019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The negation of the statement
~pa(pvq)is:
Options :
70819156211, ~ P4

70819156212, ~F

70819156213, © "4

70819156214, '~ 4

Question Number : 66 Question Id : 70819117019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

~ pA( pvq) M ([@MV@mOUIM@INS HMEWaHID agf)(Mm®) :
Options :
70819156211, ~ P ¥4



— A
70819156212. P79

P
70819156213. P4

70819156214, P/~ 4

Question Number : 67 Question Id : 70819117020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equations {Asz B2A%) X=0, where X is a 3 x 1 column
matrix of unknnwn variables and O is a 3 X1 null matrix, has :

Options :

70819156215, No solution

70819156216, 2 Unique solution

70819156217, exacf_[}-' two solutions

70819156218. infinitely many solutions

Question Number : 67 Question Id : 70819117020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A, B agym® 3 x3 clo@ eaESldam epem, @mldd A mileaSle: em(Sldamio B
Mieb)- NI OD(SIds HD(SkBTI0 @DENT. 210RRIAE 3 X 1 GHo80 ODESlHBEM @em X . O agma)
3% 1 ep@ mad-enElamns e, ageld, eoalle mandaysmsd (A2B2-B2A%) X=0
agmmailon



Options :

70819156215, 2OPCDEY

70819156216, 2C0 B0} 2OMOO MI@O

70819156217, ETI0 Q6T DEMOETBUD

20819156218, AP-AA®DO @OEMSHo HEMOETBCD

Question Number : 68 Question Id : 70819117021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f"(2—x) for all
x € (0,2), f(0)=1 and f(2) =e”. Then the value of jf{x} dxis:
LI

Options :

2
—e-

(=

70819156219.

2
70819156220, 1 ¢

>
70819156221, 21 +¢€%)

shu ol
70819156222, 21 €%

Question Number : 68 Question Id : 70819117021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



f(x) agoma’ [0, 2] @ dldalallsneq]siglenimm 8] WlanOMary@d aneEaumoem.
f(x)=f(2=x), ¥ xe (0,2), f(0)=1, f(2)=e? ag)s=lad, __{frx} dx agmailen mjelo
0
Options :

a
70819156219, 1~ €~

2
70819156220, 1 ¢

x
70819156221, =1 +¢e7)

shas ek
70819156222, 21 €%

Question Number : 69 Question Id : 70819117022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function defined on R such that f(0)=1, f'(0)=2 and

(x x
f(x) z0forallx e R. If "Ir,” /&) = 0, for all x € R, then the value of f(1) lies in the
o Jlr {I} Illrrr{*_l_:' .
interval :
Options :
70819156223. i)
70819156224. (3, 6)

70819156225. 6. 9)



(9, 12)
70819156226.

Question Number : 69 Question Id : 70819117022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f agym@’ R @ dfldalalleneqlgidlenimm o @malem ullanomayienilid @o®@ anedaumoem
flO)=1, f(0)=2, f(x) 20, vx € R.

‘--‘rfﬂ S =0, Vxe R @pwod, f(1) 6@ ajeljo odeenoag)m RO

Fixy fix)
Options :

70819156223. o)

3 6
70819156224. (3, 6)

70819156225, & 9)

(9, 12)
70819156226

Question Number : 70 Question Id : 70819117023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y=ax? +bx +¢, x € R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :

Options :
70819156227. @=1, b=1,¢=0

70819156228, @=1, b=0, c=1



70819156229 &=~ 1L, b=1,c=1

siei="1

a=l,h~=l
2 2

70819156230.

Question Number : 70 Question Id : 70819117023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y=ax’+bx+c, x € R, o aU® (1, 2) agym enllozjallenes &Hsmiealonénlo 0
QUBmes epwonenimnleoswies emosiUn =1 ag)(Tn EOELQOd:H®Io 6alQm).
)@@ a, b, ¢ ag)ilcues MOWIRID MIRNEBEEIEM :

Options :

70819156227. @=1, b=1,¢=0

a=1, b=0, c=1

70819156228.
70819156209, 2= — L b=1,c=1
1 1
a—= —, b = —, C= '1
70819156230. 2 2

Question Number : 71 Question Id : 70819117024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f n=21is a positive integer, then the sum of the series
n+l 2 : 4 ne- |
C,+2(2Cy+ 0y + 'y +..4 G, Jis:

Options :



n(n —1)(2n+ 1)
7081915623 1. 6

.n{n +1) (2n + 1)

70819156232. 6

.11(211 +1)(3n +1)
70819156233 6

n(n 1]2(11 + 2)
70819156234 12

Question Number : 71 Question Id : 70819117024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
n=2 @® &) aljdem @ruwlmoslwoanemaslad,

"o, +2(2C,+ 0y + Iy +eet "Cy ) agyem mIdmiem @i agma :

Options :

n(n—1)(2n+1)
7081915623 1. 6

.n{n +1) (2n + 1)
70819156232. 6

.11(211 +1)(3n +1)
b

70819156233.



.n(n I 'l]z(n + 2)
12

70819156234.

Question Number : 72 Question Id : 70819117025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the system of linear equations :

x—2y=1, x—y+hkz=-2, ky+4z=6, ke R,

consider the following statements :

(A) The system has unique solution if k=2, k= —2.

(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2.

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct 7
Options :

70819156235, “*) and (D) only

70819156236, () and (E) only

(C) and (D) only
70819156237. J

70819156238, (0) @nd (E) only

Question Number : 72 Question Id : 70819117025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



coell@ qumaIodsBEGd,

x=2y=1, x—y+kz=-2, ky+4z=6, ke R, agmlaud@d, moee mmmlalseanim
(el OO LD alBle6rTslde jdb.

(A) k22, k= -2 cgeemalad milerio’ aeo &80} oEmeo

(B) k= —2 mpeemmldd milaposln) eco 60} ©@moo

(C) k=2 epeemmldd miguemiln)’ aeo 8o} oMo

(D) k=2 mpesmeldd miauediled semedlg)

(E)  k=-2 epeemslad miguesiod @apalddomnce ommosmeeiens

MY OIS MTITIBNLM ([lMIWOLIMB:ElTh tudlwowem) ?

Options :

70819156235, *Y) @do (D) @jo @omo

20819156236, ) @do (E) @jo do@o

70819156237, &) @ie (D) @jo @mo@o

70819156238, (B) @lo (E) @jo mo(@o

Question Number : 73 Question Id : 70819117026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f:R — R be defined as

55x, ifx< -5
f(x) = {2x3— 3x2— 120, if -5< x<4
223 352 36x — 336, if x >4,

Let A = {x e R : fis increasing}. Then A is equal to :



Options :

70819156239, (— *» —9) W (4 =)

70819156240, (—3 —4) U (4, =)

70819156241, (~ %, ~3) W (4, =)

70819156242, (2 *)

Question Number : 73 Question Id : 70819117026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f:R =R agmm@
Rhx, ifxr< -5
f(x) = 42x3- 322~ 120z, if -5< x<4
2x3— 3x2- 36x — 336,  if x > 4,
ag)om afldaLafl afidleaimy,.
A ={x e R:fis increasing}. agy@lad, A agymalla) mjelmoem

Options :

70819156239, (— -, =9 W (4, =)

70819156240, (3, —4) v (4, =)

70819156241, (— %, —9) W (—4, =)

70819156242 2 %)



Question Number : 74 Question Id : 70819117027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

; 1 -1 V63
A possible value of tan( —sin ' —] is
4 8

.,

Options :

70819156243, V7

70819156244.

70819156245.

70819156246, 282 — 1

Question Number : 74 Question Id : 70819117027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 J63 ¥
ta_t‘{zsin ITJ agymaflad’ mowimow melo
Options :

70819156243, N

70819156244.



JE—1

70819156245.

70819156246, 2V2 — 1

Question Number : 75 Question Id : 70819117028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 6(0°. After a flight of
20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is :

Options :

70819156247, 360033 m

70819156248, 24003 m

} 3
70819156249, WUV S m

2
70819156250, 120083 m

Question Number : 75 Question Id : 70819117028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

eea®mIME® A agm enflo3iafld dlod ezg almome 60° eaddesncemlad allesilaimy,

aflmom@silens 432 km/hour eum®m@eygs 20 Hrusa il MUerRIRERIT eltaHo COMEH6IENTD

30° -galas) mopeqlsim). allmomoe &er sweEHianen alosnimem®ld, allmomesiend

HWDo oM@ :

Options :



70819156247, 36003 m

70819156248, 200N 3 m

' 3
70819156249, 10UV M

.
70819156250, 1200V3 m

Question Number : 76 Question Id : 70819117029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vector equation of the plane passing through the intersection of the planes
;(; 5 ;, 'S ;2] =1 and ;(; E 2}] = — 2, and the point (1, 0, 2) is :
Options :
r\3i+7+3k)=7
70819156251.

;(f H7 j 3;&_}:?
70819156252.

7
70819156253, iR

._t
T
|
ey,
%]
i
[l

7
70819156254. 3



Question Number : 76 Question Id : 70819117029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(1, 0, 2) agyrn endlozjnlleeswio }'(; i :, + ;2] =1, F[; =t 2}} = — 2 af)(M Ol
dh)Sl EalyMilsam) @Sl@lo HSIMGalodlM MRIGTIOM UBSH MO0 afmm :

Options :

r\3i+7+3k)=7
70819156251,

?{?|?}|3k]=?
70819156252.

7
70819156253, L

._t
—
|
i, P
s
ol
[l

7
70819156254 3

Question Number : 77 Question Id : 70819117030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the statements p and g, consider the following compound statements :

(@ (~gr(p—q)—=-~p

® (v A~p)—q

Then which of the following statements is correct ?

Options :
70819156255, (a) is a tautology but not (b).

70819156256 (b) is a tautology but not (a).



70819156257, (@) and (b) both are tautologies.

70819156258, (@) and (b) both are not tautologies.

Question Number : 77 Question Id : 70819117030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
p, q g ([l MmoUM L WDES MINY 6HOSIamIalenim dl@® (oM@ UMD
al@lenensleeds.
(a) (qa(p—q)—=-~p
b (pvaAr-pl—=q
oildleaimaudi@d e ol mdmoumdacem vadl ?
Options :
a) 80) ¢soe50al @pen aleidd (b) @og|.
70819156255. 1) £ %8 () Gogl

70819156256, () B0} 65065082 @DEN aled:t (a) @Y.

20810156257, (@) @io (b) @jo esoe50aelea06m.

20819156258, (@) @io (b) @jo es0e508eddntd @g).

Question Number : 78 Question Id : 70819117031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



If a curve y=f(x) passes through the point (1, 2) and satisfies x% by = bx*, then for

y 62
what value of b, lj‘f{x]‘i"f = ? ?
Options :
70819156259. s
31
70819156260.

70819156261, 2

70819156262, 2

Question Number : 78 Question Id : 70819117031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y=,lr{1] agm  Clim (1, 2) agyom GT).”ETE!&('L”EI&G}E HSMCGalddb (M), & 1SIHHM

x% Fy = bx?, agma’ ©ROH08RIM™] afladd b @S oR® mjey@slmoeny

2
62
[f)dx ==
i 5
Options :

70819156259. i



70819156260.

70819156261, °

62

70819156262, °

Question Number : 79 Question Id : 70819117032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two
elements in their intersecton, is :

Options :

o

4]
X

70819156263.

70819156264. =

70819156265. =

r»g]| ]

70819156266.

Question Number : 79 Question Id : 70819117032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



{1, 2, 3, 4, 5} agym memamilem qenianaugieeld alom agsieoim opo®@esleljo oens
menfomgiHalns @BOMaHTI@ &HiBio MM @PoMEBU HOEMOQ|SIMIBR MVIU)®
Q)M :

Options :

70819156263, 2

70819156264.

70819156265.

35
70819156266, 2

Question Number : 80 Question Id : 70819117033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The area of the region: R ={(x, y) : 522 = y < 2x>+9} is :
Options :

o its
10819156067, 63 Square units

20819156268, 9V3 Square units

20819156260, 1133 square units



12 sguare units
70819156270. l"ﬁ 9

Question Number : 80 Question Id : 70819117033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R = {(x, y) : 52* = y = 2x*+9} ag)(M @0 OWBOHOERIMATOM aldaleal :

Options :

: oo aemld
70819156267, V3 &R

70819156268, 9V3 @8 @emig

70819156269, 11V3 -2I®) @emilg

70819156270, 124/3 2@} @erdly

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mathematics Section B

708191675
6

Online
Mandatory
10

5

20

Yes

1
708191955
Yes



Question Number : 81 Question Id : 70819117034 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum
possible value of k is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 81 Question Id : 70819117034 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[, 1,1, .., 1, kagm 10 agemad moaeales eadlomdad alomlad &sioaloem, agelcd k
W) MABHOAYMM oo OWDM Melo af)mM®@ @,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819117035 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (=5, 0). If the locus of the point P is a circle of radius r, then 4rl is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819117035 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(5, 0) agym endlozdl@d odlom P agyomn endlosjalfleaissias aieo (-5, 0) agym enflozjaflad
adlem P agyrmn endlasjafleaisegs aioemilen ajmiegl @em. Pagom enllozialledd eeosanmd
r ag)(mn EROOTEIes 8] Aljemacesmaidd, 4 ageme  @em,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819117036 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)%+ (y—3)2=25 at the point (5, 7) is A, then 24A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819117036 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
(x=2)2+(y=3)2=25 agyom oo (5, 7) agm enfla3)allad ©emosniomn, emodadd,
O®ISIIn agimilaiwie ealmiiglal x-@eenaljo ealdm (@lesoemasiion alvqlgal A

i

@ReOemEl@, 24A agm@  @pen.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819117037 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

21 M
(-1+ i3) {1+ i3]
Let i=+—1, If . e 2'4 = k,and n=[|k|] be the greatest integral part
(1- i) (1+ i)
n+o n+o

of |k|. Then Z’(; I5]2 Zn(; t5) is equal to .
F o =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819117037 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



(<1+ 3)" (14 iB)

i = 1 @)y g — si— = k @lon=[|k|[]agoma’ |k @6OS H@DM
(1- i) (1+ i)
n+5 n+5
aljdemmiaicilo @6eME:IH, Z}(j - 5)% ;(_f F5) amm @@},
= =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819117038 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The students 5y, S, ...., 54 are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819117038 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Sy, Sy, -ovwr Sy @O 10 g’ A, B, C ag)oml 3 (o800l mogym). @oallad ag)g|o
(jalleljo 80 B)Fewarlaljo OEMEIHEeMo, C ag)im jalldd 3 &Sleid e ® @d:I0. ag)@l@d
ED(ald0M0 ENBOBHIM MOUISNITN (D]allhRlOS EDEE: TUORLIBBEINS ag)eo

ik

(B 61T,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819117039 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

nj ”Lr, ifn=zr=0
For integers n and r, let g :
r 0, otherwise

The maximum value of k for which the sum

&(10) 15 ) &1(12)( 13
Z{} i Nk f+Z{]. P e i1—; exists, is equal to :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819117039 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



(n) ["c,, ifn2r>0
n, r o)l aljBeg Moos BB, [I‘J:{ . SO
I

(0, olherwise

Ef10\ 15} k¥if19 13 :
Zﬁ Al +§ Mo yq | @M D@, k agmain’ m@dasoaymm gwdmm
=\ i \Nk—i) H\ 1 \k I
@] el\mOer’
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819117040 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ifata=1,b+p=2and af(x) 4 cu_,r"(iJ = bx 4 E, x # 0, then the value of the expression
- :

X
fx) 4 IEJ |
15 4

X +—
x

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 87 Question Id : 70819117040 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ata=1, b+p=2, af(x) 4 nj‘[iJ = bx E x # 0, @@,
% X 1

o

QUOBOTOM mello @6,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819117041 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let A be an integer. If the shortest distance between the lines x —A=2y—1= —2z and

-
W/ g )
x=y+2h=z—Ais 7\5 , then the value of |[A|i1s .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819117041 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
A 80} alldemmoa)@oem. x—A=2y—1= -2z, x=y+2A=z—\ ag)(Mm coaldhidssisaiael

=

aRCUle @HIO6TIH B)0o w—fq AoeemEldd, || agmailen mjele @oem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range
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